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Mass and Capacity Problems gﬂ

1. Paula buys 7 litres of milk for £5.53 at Tesco. She buys another 4 litres at Asda for £3.28.
Which supermarket’s milk is cheaper per litre?

2. Ajar of cooking sauce has a mass of 475g. The instructions on the side of the jar say to add 0.75kg
of chicken and 180g of onions.
What is the total mass of ingredients in kilograms?

3. A garage sells petrol for 108p per litre. George spends £28.62 on petrol.
How many litres does he buy?

4. Atin of beans has a mass of 415g.
What is the mass of 8 tins in kilograms?

5. A bag contains 6.3kg of potatoes. John uses 740g to cook a potato pie.
How many kg of potatoes are left?
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